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Problem solving - four operations )

o Entry to a castle costs £6-50 more for adults than for children.

The cost for a family with one adult and four children is £44.

What is the cost of each ticket?
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e A supermarket needs to deliver 270 online shopping orders.

A van can carry 25 orders at a time.

How many van trips are needed to deliver all the orders?
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A supermarket sells mixed bags of 6 lemons and 4 limes.
There are 255 lemons and 17! limes to be put into bags.

a) How many mixed bags of lemons and limes can be made?

\.)
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b) How many more lemons and limes are needed to complete

another bag?
¥

Cups hold 0-25 | of water. Mugs hold 375 ml of water.
Jen fills 5 cups and 5 mugs with water.

How much more water does she use altogether for the mugs
than for the cups?

¥

55




Unit 14: Problem solving, Lesson 4

e A number is multiplied by 6 and then divided by 3.
20 is added to the result.
Reena says, ‘That is the same as doubling the number and adding 20.’

Explain why Reena is correct. Use examples to help you.

e There are 40 tins of blue paint. There are also tins of red paint.

The total number of litres of red paint is half the totql number
of litres of blue paint. How many tins of red paint are there?
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3 litres 5 litres




